Find The place of The underined
dgit:

| 897473

2345002
3.498289
H 239229

Mutiplication Conmparisons:

AN electric saw cost Thrty-Two
dolars, which is four Times as much
as a manuadl saw costs. How MuUch
does The maonudl saw cosT?

MUITIDIY:
(Use any method you want)
| /8

X445

Adartion:
| 345900
+232098

Supbtraction:
| 782008
-4590498

MUTi=Step Word Problem:

The owner of amalt shop spent 3
PUYINg 6 boxes of cuUps with each box
contaning 621 cups. If he expected
The cups TolasT d months, how many
CUps does he plon To use each
mMmonTh?

Find The value of The underined
dgit:

| 345023
2721092
3.901843
4. 342908

Round the number To the nearest
underined digit:

| 123899
2.897909

Divide:
(Use any method you want)

| 876/6

2. 14899/3

Find The first 6 multiples of:
0

|_|

Find The facTors of:

26

5/
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